ACCOUNTING QUESTIONS – Cost Volume Profit (CVP)
A company needs to determine what price it should sell a product to start making money.  They perform a Cost-Volume-Profit (CVP) analysis.  At what point will they make money?

~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~
Understanding CVP (Cost-Volume-Profit) relationship.

Use the MODEL and insert the known amounts.

Then find the missing amounts and justify your math + formula for each.

Do not forget to provide the ratios (%).
Remember:
Unit Sold = Volume

Selling Price = Revenue (Per Unit)(Rev)

Variable Costs per Unit(VC) = Variable Costs (per unit)

Contribution Margin (CM) = The net value after the VC are deducted

Total Contribution Margin (All Units) = The CM multiplied by the Volume

Fixed Costs (FC) = Total Expenses (not unitized – Total)

Operating Income (OI) = The total income, or loss, or breakeven point after deduction of the FC
Formulas:

CM Unit = Rev – VC Unit  or  CM unit = CM Total / Volume

CM Total = CM unit x Volume  or  CM Total = FC + OI

Operating Income = CM Total – FC 

VC unit = Rev Unit – CM Unit

CM Unit % = CM(Unit) / Revenue(Unit)

VC Unit % = Revenue (Always 100%) - CM%

Rev = CM Unit + VC Unit

~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~
Make sure that each company has the same Model. (Copy it).  Then fill in the missing amounts:
Per Unit x Volume = Total

Revenue $. . . . . . . 


 100 % (Always)

(-)Variable Costs (VC) $……… 


(-)… . .%
Contribution Margin $……… X ……….. = $. . . . . . . . … .. %

Fixed Costs (FC) $ ………..

Operating Income (OI) 


 $...............

Explain and write out your calculations for each firm.
Firm A:
Units Sold = 5,600 Revenue = $12.00 

Variable Costs per Unit (VC) = ?

Contribution Margin Total = $25,200 

Fixed Costs (FC) = $20,300 

Operating Income (OI)=$ ? CM unit= ? 

CM unit%= ? VC unit %= ?

Firm B:
Units Sold = 16,800 Revenue = $? 

Variable Cost per Unit (VC) = 22.50

Contribution Margin Total = $ ? 

Fixed Costs (FC) = $84,500 

Operating Income (OI) =$43,180 CM unit=: ? 

CM unit % = ? VC unit% = ?

Firm C:
Units Sold = ? Revenue = $7.30 

Variable Costs per Unit (VC) = 3.20

Contribution Margin Total= $ 28,700 

Fixed Costs (FC) = $? 

Operating Income (OI) =($13,500) CM unit= ? 

CM unit %= ? VC unit %= ?

Firm D:
Units Sold = 14,160 Revenue = $? 

Variable Costs per Unit (VC) = 55.25

Contribution Margin Total = $ 66,552 

Fixed Costs (FC) = $73,250 

Operating Income (OI) = ? CM unit= ? 

CM unit % = ? VC unit% = ?

Firm E:
Units Sold = ? Revenue = $? 

Variable Costs per Unit (VC)= $24.00

Contribution Margin Total = 38% 

Fixed Costs (FC) = $57,000 

Operating Income (OI)= $0.00 CM unit= ? 

CM unit % = ? VC unit% = ?

